C:# W3yuenue pacnpenenuTeabHol COOCTBEHHOCTH Umst:

TepenuunTe KaxKIAYIO 32124y, HCIOAb3Ysl PacHpeleuTeNbHOe CBOCTBO OTBeThI
YMHOKEHHSI.

1) 5xQ2+9)=( x H)+( x ) L.
2) 7x@B+9=( x )+( x ) 2
3) 6x(T+5=( x H+( x ) 3.
4 3x@+5=(__ »x_ )+ *x_ ) 4
5) 2x(6+4)=( X )+ ( X ) 5.
6) 5x@+3)=( x )+( x ) 6.
7) O9x@+7)=( x )+( x ) 7.
8 9x(7+5=( x )+( x ) 8.
9) 2x(Q+4)=( x )+( x ) 9.
10) 2x(3+5)=( x )+( x ) 10.
1) 8x3)+(@8x2)= x( + ) 1.
12) 9x3)+O9x7)= x( + ) 12.
13) 2x4)+2x8)= x( + ) 13.
14) 3xN+Bx9= x( + ) 14.
15) 5x9)+(5%x6)= x( + ) 15.
16) (7x3)+(7x5)= x( + ) 16.
17) Ox7)+©Ox6)= x( + ) 17.
18) 2x6)+(2x8)= x( + ) 18.
19) 5x7)+(5x9)= x( + ) 19.
20) 5x8)+(5x2)= x( + ) 20.
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M3yuenue pacrnpeaenuTeIbHol COOCTBEHHOCTH Mms: K104 K NPABALHBIM 0TBETAM
TepenumuTe KaKIyIo 33124y, HCHOIb3Ysl PACIPEAETHTENLHOE CBOICTBO OTBeTh
YMHOsKEHHSI.
1) 5x2+9)=( 5 x 2)+( 5 x 9) . (3x2)+(5x%x9)
2) 7Tx(3+9=( 7 x 3 )+( 7 x 9 ) 2. (Tx3)H7x9)
3) 6x(7+5)=( 6 x 7 )+( 6 x 5 ) 3. (6xT)+H6 x5)
4) 3x@A+5)=(3 x 4)+( 3 x 5) .. (B xHtE x5)
5) 2x(6+4)=( 2 x 6 )+( 2 x 4) 5. (2x6)+H2x4)
6) 5x(@4+3)=( 5 x 4 )+( 5 x 3 ) I CRa) s CRR))
) 9x@+7)=( 9 x 8 )+( 9 x 7 ) 7. (9x8)+9 x7)
8 9x(7+5)=( 9 x 7 )+( 9 x 5 ) g.  (9x7N+H9x95)
9) 2x(9+4)=( 2 x 9 )+( 2 x 4 ) 0. _2x9+2 x4
10) 2x(3+5)=( 2 x 3 )+( 2 x 5 ) 1. (2 X3)H2*3S)
11) (8x3)+(8x2)= 8 x( 3 + 2) 1. 8x(3+2)
12) 9x3)+(OxT)=9 x( 3 + 7) 2. 9x@+t7)
13) @x4)+Q2x8)= 2 x( 4 + 8 ) 3 2%(@+8)
14) BxN+@Bx9=3 x( 7 +9) 4. 3x(7+9)
15) (5x9)+(5x6)=5 x( 9 + 6 ) 15.___ 3% (9+6)
16) (7x3)+(7x5)=7 x( 3 + 5 ) 6. 1*X@3+59)
17) OxT)+(Ox6)= 9 x( 7 + 6 ) 7. 9*x(7+6)
18) 2x6)+(@2x8) =2 x( 6 + 8 ) 1. 2%X(6+8)
19) 5x7)+(5%x9=5 x( 7 + 9) . SX(7+9)
20) (5x8)+(5%x2)= 5 x( 8 + 2 ) 20 Sx(8+2)
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